1.0/ & B E
DFET £ ZEEURDY A AR T H 1935
D% M | 10,759.06
E W H= 7,690.50mt
4) & 7p e % - BN F
B EE FER(TH) F e N R
WEFn 53 ~ 55 W7 EGE TG B iR 1,635,813t & — ik Hr4E
SR 6 ~ 10 W7 EISE AR A 610,179| TGRS . 555 PIRR i 45 el LA A
11 ~ 13 PRAERE A SRR % - B IR 3 M| 1,343,794 ku F—Msk(L & T )i %
13 ~ 14 BSEBRR G 40,11 3|BEEWIEHA G 5%
14 AR — R AT 105,411 gﬁ@?@@;@if@%@
15 B T — BT R R 109,672 ;?ﬁ%%;ﬂ;“&f RS AR
16 B2 — AT SR 80,649 %g;@ﬁfﬁ@%ﬁigﬁ;&ﬂfﬁ;
17 S 5 — A AT R A 82, 782| L PIE RIS L,
18 T2 — P it A A 150, 462 Ez'@ﬁggfggggﬂgf@
19 el S — T R 08, 6951 o o EEIC I B
20 P S — fr A T R R 181, 682 gﬁg%g%ﬁrmﬁ%ﬁfgﬁ%g
21 I A T 20, 793 T%g%i%ﬁ;ﬂfﬂg @ﬂ?ﬂm
22 FrP s 5 — fE P T b R 29, 667 %iﬁuxia*ﬁﬁflfxﬁgﬁgﬁ
23 e T 23, 366( 1 e
24 FePIEL 2 — AP TSR e 29, 571 Z@@%@%Ajgjﬂggyﬂbﬁiﬁ‘ s
25 FeP & — R TR 23,123 %Ig%@%@gﬁgng *
26 AT 5 — R AT G R 66, 802 %ﬁ%ﬁ%%’jﬁ%ﬂﬁ BYLAT L
27 N 2 — L T R i 97, 632 %@ﬁ‘;;ﬁ’rﬁg*ﬁ Wt N
28 P A T A 101, 998 67?(?,’;‘;%&%%5%@ AU ST R
5 & HE
1) LERfRikEET) 1HY%7=0 K@iy 5088 /)Ehiy 35088
m) W RERES BOW KEW 1258H  /NEWMD 1,1728H
oW 10h
) EIRERE ) By 50kg
=) HBoy AALEERE 1H%70  KEMp 588 /B 10088
) 15BEEIRES) 1HEfE] 190ke
~) {G/KILEERE 1A 600k

UGB 1RAEEL 728 O ZTE TG PR AL 5 20 CALEE (BOD, SS3k

N—H10mg/0LL ) UK R AL BRES ~TE %)

12300mg/ QLA T




6) FE ik

A) AREEMEFR 5, 740. 97m (1F 4, 404. 08ni » 2F 1,336. 891 )

F 2% (1F) mo o ol FEfix (2F) mo o ol
KBV T B T 186.82 BATGFE=E 62.39
INE ) B AT 264.41 BENMEFEB =R 108.05
el RN U 869.58 ) O B = 20.00
e W om ok 652.20 2 E(3=) 161.30
0N R = 108.52 R PG = 173.62
iE) 70 % 75.24
& A E= 100.09 7 7 525.36
77 v bk — A 393.11
A EB 5 AL B 110.04 = 75) i 811.53
R 57 PR AL B = 829.54
CE £ = 48.16
R A 7 — = 36.45
/I 7 3,674.16
e D fth 729.92

7)) fPEREE 1, 949. 53nf (1F 1, 435. 48nd -2F 514. 05m)

F % (1F) [TETI 5= 1} FE iz (2F) (LTI 5= 1}
S = (fth) 48.60 SAREEE S (2F) 430.15
7 M B JE 68.90 SRR (fh) 83.90
W& & = 17.06
WA R JE 12.69
BEE W E 5 25.00 /I g 514.05
Be AP B R 63.10
SAREEE S (1F) 430.15
/I it 665.50
e D fth 769.98




	h29_1
	h29_1-2

